1.

a>0 9w, - \/(=5a)” & ZFks] Lpenfjoet,
> =
> " -5a

-/(-5a)2 = = V2542 = —(5a) = -5a




2. a>0u, /(40 - V0 + (- V2a)? & 7Fes] sh?

® -a @?m ® 5a @ a ® -3a

v/ (4a)? \/%)

= |4a| — |3q| + 2a
=4a—-3a+ 2a = 3a




= % 132 Abolo] Qe 8 B 12W?

® @v: @ @+

N —

B

1
0<=-x<1
@) 5 <

@1<V2<2
®1<V3<2
@2<+vY5<3
®3<n<4




4.

vl

Os T &4 22 A

5%
rlo

29

® V3V5 = Vi5 @)-v5v7 =-35

® 2VTx \V7T=14 @\/gx\/zz\/g

® V2x2V6 =43

‘ @ -V5V7=-+35




5. VI50=aV6,2V2= Vb L W, a+b 2 F2?

® 6 @ 8 @10 @i o1

V150 = 56 La=5
242 = V8 ~b=38
La+b=5+8=13




4 A/ 1_ Ql [e) O 15
@— 32+\/;—a\/§ F'_Uﬂ,a—’]%ka:ll]'@?
1 1 3

@5 @—5 ®1 @—5




e

V2445

V2

a—l—b

A, 210 o) gre

NG Vi0
o5 @©F

® V6




2 < VX <491 % 27t asieh B o, a9 g2 Fotolet.

2= Vi,4=+16
Vi < yx < V16 & IHESH=E ALy =

x=25,6,7 8, 9,10, 11, 12, 13, 14,15, 16







10.

ot

@ el 2ol7k 242t VEem , VEem 1 A2
4 15 Hote] ool 2 A
AZFR ] 3 W] ol Fefolel,

_7_'

(V6)2 + (V8)2=6+8=14
wH2hA Videm o] Tt

2 A2 § Mo Polk 149 oFe] AFD




11. V1029 x a 7} A7} EA 5h= g 9] gt oA 71 2R Al 2] 9
2tA et 74 F Al A 9] A 4=2] 245 otol et

» =

[> ®EH: 567

S8 ~
1029 = 73 x 3 ="7>x21

V1029 x a 7} AFA4=7F ==

a =21 x (AF=) o]ofof gt

21 x4 =84, 21 x9 =189, ...

21 x 25 = 525, 21 x 36 = 756

.. 756 — 189 = 567




12. & 58 2 7 Adz 4ag o, Al fiAel 2= & 73t

SES

V5, -V3, 3, 1, -5
> =
> 3E: 1

3, VB, 1 —V3, -5 o &Aolna A Are] oE %
olct.

rr

1




711712

13. V7 < V2a+3b< V15 E HESI= 4% (0, b) = 25 2
(1;/‘]——’ aab%z} LT)

O 74 @107H ® 117 @ 1370 ® 1574

—€B ~
V7 < V2a +3b < V15

7<2a+3b<15

b=19 M, a=3,45

b=29 W a=1,2,34

b=34d 4, a=1,2

b=4d 9 a=1

- 1070




~
e ~
e N
Vs N
N

- ¥ ¥ —1

D -1 ‘\' P 1
@O -1-V5-+10 @ -1+ V5-+10
® -1-V5+ V10

@—1+ V5 + V10
® 14+ V5+ V10

P=-14+V9-44 Vi6-6=-1+ V5+ V10




15. A=V5+V3,B=+V5+1,C=3+ V34, 7P &2 52

@ A @B ® C
@ A=C ® A=B=C

~&B

A-B=(V5+V3)-(V6+1)=V3-1>0
.A>B

A-C=(V5+V3)-(3+ V3)=V6-3<0
LA<C

webA B < A < C ©|th




16. V2=a, V3=0 Y4 ™, V54 Eq, bl B3 A 02 Yepdl 227

@ a+b @ a+b? ® a*p?

@ab3 ® ab

V54 = V2x3x3%x3= V2(V3)? = ab®




17.

03 5 V43 = 2074 Y& o]-g3dto] AlFZe 2 78 & gle
A& ==kt
@ +0.043 © V430
® V0.43 @ V43000
> £
> g ©
43 \/4,3 2.074
& +0.043 = T T _T_o.zom
© V430 = V4.3 x 102 = 10 V4.3 = 20.74
3 V43
\0.43 =
© 100 10
® V43000 = V4.3 x 104 = 100 V4.3 = 2074
o|BZ V43 =2.074 Y2 0|85t AlFL T2 7T 5 e
A2 ©°lth




18, £h53} o] 44 9191 8 A(-4). B(-2)°] ool 4 ABE &
AZEE ABCD 7} 9tk 7 B & F4H.02 s, thzhal

_,_,
_|\1

BD %— HH2] 50 & ol= ¥hel o] Yol g otefet
D C
< A B >
—7 =)
> &
> HED 4

AF2HE ABCD 9| & 9] Zol7} (<2) - (-4) = 2 0B
2b4 BD o] Zoli 2v3olth,
HHA] Eo] 23S HH419] Yol

%Xﬂ'X(2\/—) = 4no|t},




VIS+3T VI5-2F 2 554,27 3V2-1F &2 52 pat

S, b-a 9 F& FoHH?

@ 4 @ 2 ® 0 @ -2 @—4

B

@D VI8+3-(Vi5-2)= Vi8+3—- VI5+2>0

VIS +3> V15 -2
@2VT-(3V2-1)=2V7-3V2+1= V28— VI8+1>0
L 2VT>3v2-1

na=VI8+3=3V2+3,b=3V2-1
b—a=3V2-1-(3V2+3)=-40°]|t}.




20. 6VIIx2V3£9VE—320x V2 +4 2 vl 4 & Feloek

Ct -
H »

4
> A A=12

~&B

A9 ; GyTIx2V5+ 93— 2V3X2V3
92
_ 8
V2
: 48\/§;A_i
: V2
V2 8




21. 7h27k Vim 9 Ao Wolrk VEm? ¢ HAIZY ol ¢

RSPl Qi o] wi, et o] Hol=?

i)

@D 1m @Qm ® 3m @ 4m

i

il

21219 0] Yol (7h) x (A1) olet.

Wb Vix = VIS, x:ﬂf: VA = 2(m) oIt

\/_




22,

o} 1994 oABCD , oCEFG ,
oEHL) &= 25 ZARZFgolal 11 4
o= A2t S, Sp, Sz Olth. §1 =1
($2= 381,55 =15, % . BH
o Folg Fotul?

@ 4-13
@4+3\/§




23.

3 9] o] A BT} o) AFEE
stolat.

V/9(a2b?)3 — V5aZ = 2b?
[ =
> He D 6

~&B

Zv 7+

=

ﬁd,bﬂ@'ﬂﬂ,q—%}_\_‘]%

a=-VBb= 3oz,
\/W— V5a2 — 2b2

= VV9I-VI5-6=9-3=6

- \/\/9 - 3)2(‘/5)2}3— \/5(_\/3)2_

At




24. /(2 V5) + /(24 V5)? ] A& ekl s

@ 4 ® 2V5+4

B

V5 >2o0|B8
V@B + T Vo =24 V5424 4B
=245




71
® 3 @1+ 3 ® 2+ V3
@ 5 ® 2+2v3

1< V3<20]B2
“a=1,b=V3-1
“2a+b=2+V3-1=+V3+1




